AP Calculus AB Name: AN SWex K@\U}*’

Unit 3 — Day 2 — Assignment

For exercises 1 and 2, show the algebraic analysis that leads to the derivative of the function.

Find the derivative by the specified method.
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Find the derivative of each of the following functions.
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Use the table below to complete exercises 8 — 10,

xR T e TR e ]
-2 ~1 2 4
-1 3 -2 1 1 )
0 -1 2 2 3
| | 3x+cosx | | |
8. If H(x)= 2/ ) , what is the equation of | 9. If J(x) = —, what is the value of
g(x) ’ F(x)

the tangent line when x =—17

0T HED = S5 %(%1 T = P00 (2500 (el 06,

¥ ks
J'(0)= TA3-5n0)- (3(0)1(050) £V
80T (Ploy ™
Hh0-_guathd-2euatta | i) -L0la)
S (-1)?
R s el R )

@ (=8~ AAD)
(N>

\
4x+ f(x)

3—g(x)

0K = (3-q00) (4 +£60) = (xafd)=9'(D)
Ggug? -
K(5) - (3-gf Q)W 1) - (HD+ ) (g ()
[3-9())3
= G-k '\‘-h *%“‘8-{-\)(" "’fl igo’f

w— - = d} e
_ )3 gﬂ( 4) - 3am -3 ENME
(a5

10. If K(x)=

, What is the slope of the normal line when x =27




